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BUSINESS ECONOMICS
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. The figures in the margin indicate full marks

for the questions.

1. Choose fhe_ correct answer : 1x10=10

(a)- An economy is charac;terised by
(i)- unlimited natural resources
 (ii) unlimited wants and needs
(iii) no energy resourcesv

(iv) abundant productive labour.

(b) Which of the following is not 2 determinant
: '\ ‘ of the firm’s cost function 7

(i) the production function
(ii) the price of labour :
(iii) taxes

: (iir) the priée of the firm’s output.

[Turn over
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(iii) the L
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According to f‘proﬁt !

maxiﬁﬁsaiion_ theory” "

of the firm, management decides :

(i) Output level which 'ma)’_dmises. T

(ii) Output level '
difference betwe

evenue
‘which maximises ‘the
en the revenue'and cost

(iii) Output level which nﬁnimisés cost =

~ (iv) None of the above.

(g) The positively sloped. par{ of V the 1ong—rem | : ol
" average cost curve is due 1o which of the
following ? S | o
(i) diseconomics of scale o
s of return

ductivity that results from

(ii) diseconomic
(iii) increase in pro
e specialisation_

(iv) None of the above. '
of business cycle is associated 4
of R. G, Hawtrey P '

business cycle

(h) Which theory
with the name

(i) Over production fheory of
(i) Innovation theory of pusiness cycle
(iii) Monetary theory of business gycle

‘ (1V) No_,ﬂe of the above.
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(iii) S proﬁt _ . _
(iV) \% ® Explam how least cost combination of
' s output is attained. :
: 8x5=40 :

the followmg

Answer any five of
scope of Busmess -
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(a) Explain the nature and
economics.

2 T S R
Answer in brief -
2x5=10

(a) “]h !
y dOe
i) Wh s the problem A f Ch
at IS mark OlCe aﬂSe ?
et demand ? -
; (b) Discuss the 1aW of variable proportions.

(C) Sta
' te tWo
fe
competition atures
whi of m
(d) Define il competltivoenlopohstlc
Is Oquants : 1n nature (©) What is demand forecasting * 2 Drscuss thé

W 4 different methods of demand foreoastmg oA
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oﬁt is the rewar

/ monopol urve
y S of the f‘
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(©) Define trade cycle. Discuss the diffe-
phases of trade cycle.

(f) Discuss the role of demand and supply -
price determination process under perfec:
competition. X -8

(2) Distinguish between -

) Accoﬁnting‘ Cost and economic -cost P

_ (ii)' Prime cost and supplementary cost.

' ' 4 4+4=8

9

247(1)BECO12 - (g : 500




